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&S SRR SSHERY 7K 1 4R AT YD 1 By B
FERTEE s ( 30cmx30cm ) N 126
£ P 126
RAERZAEY P 175
23 27 175
SEE kg 9
3 11#E+ 3% ( K49+200 )
FERTEE s ( 30cmx30cm ) N 102
L0 R 102
AR ZAEY 2 148
23 27 148
SE8E kg 7
4 12#B0 137 ( K55+540 )
HERIEE 1 ( 30cmx30cm ) N 95
&5 VN 95
AR ZAEY 2 142
23 27 142
E5HE kg 7
5 13#E 3 ( K62+800 )
HERIEE 1 ( 30cmx30cm ) N 89
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w5 SERRSEHER K R EAE Y HE e LRivs Ha
&5 Pk 89
RAEBLEAEY 27 135
323 S 135
SE8E kg 7
6 14#E L7 ( K64+800 )
FERTEE s ( 30cmx30cm ) N 91
25 P 91
RAEREEY 2 136
;23 27 136
SEE kg 7
7Y B F EE/BIHER ( K65+000~ K86+000 )
(—) |HEEPIE
ZLIRE km 20.922
(=) | FERZEE
1 S#iEELA ( K66+760 )
FEHTEE s ( 30cmx30cm ) N 267
25 P 267
2 o#fE AR ( K68+840 )
HEA ZE #tb ( 30cmx30cm ) A 220
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e B 220
3 10#4EE S ( K71+200 )
HERIEE 1 ( 30cmx30cm ) N 154
£33 27 154
4 11#4EE S ( K73+560 )
FERTEE s ( 30cmx30cm ) N 152
25 P 152
5 12438 ( K74+300 )
FEHTEE s ( 30cmx30cm ) N 205
£33 27 205
6 13#HEE S ( K76+500 )
HERIEE 1 ( 30cmx30cm ) N 214
£33 27 214
7 14438 ( K77+320)
FERTEE s ( 30cmx30cm ) N 278
25 P 278
8 15#4EE Y ( K78+560 )
HERIEE 1 ( 30cmx30cm ) N 87
£33 R 87
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9 16#HEE A ( K79+600 )
HERIEE 1 ( 30cmx30cm ) N 45
£33 R 45
10 17#3E5E3% ( K83+540 )
HERIEE . ( 30cmx30cm ) N 275
25 o 275
11 18#HEE Y ( K84+260 )
HERTEE s ( 30cmx30cm ) N 168
25 R 168
12 19#4EE 7 ( K85+820 )
HERIEE 1 ( 30cmx30cm ) N 317
£33 27 317
Gl RIS EESEEER ( K86+000~ K107+000 )
(—) |HRRPIE
FILIE km 21.142
(=) | FERZEE
1 20#3E B 1% ( K90+540 )
HERIEE 1 ( 30cmx30cm ) N 173
£33 27 173
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2 21#3EE L ( K96+720 )
HEAR ZE #th ( 30cmx30cm ) A 115
£33 27 115
3 224381 ( K100+720 )
HERIEE . ( 30cmx30cm ) N 136
25 o 136
4 23#3E & ( K105+000 )
HERTEE s ( 30cmx30cm ) N 148
25 R 148

N IEIEE B MMERFER ( K107+000~ K115+288 )

(—) |BREFPIE

Itz km 8.285

(=) |FESELERE

1 24438 ( K108+140 )
FERTEE s ( 30cmx30cm ) N 155
25 P 155
2 25#3E & ( K110+600 )
HEAR ZE #tb ( 30cmx30cm ) A 220
£33 27 220
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(=) | MR E{LiErk
1 15#H0 13 ( K114+600 )
HEAR ZE #th ( 30cmx30cm ) A 113
£ P 113
RAERZAEY P 184
23 27 184
g5 kg 10
2 16#H1 137 ( K115+850 )
FEA B ( 30cmx30cm ) N 45
£ R 45
HABREAEY % 62
e # 62
SE8E kg 2
+ REMREZER
FEHEE s ( 50cmx40cm ) N 264
bt (LK) P 264
BB E R hm? 0.26
¥ kg 4.33
AN SRk G R X
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w5 SERRSEHER K R EAE Y HE e LRivs Ha
(—) [fTEH
1 —REE
HEA ZE #th ( 60cmx60cm ) A 13268
INHAR S 13268
2 R
HEHTEE s ( 60cmx60cm ) N 15487
i 27N 15487
3 ZRBRTH
FEHEE s ( 60cmx60cm ) N 22784
L) 27 22784
(Z) | —ZBEPHERBET
=t m? 3175
HEAR ZE #th ( 30cmx30cm ) A 21078
AR 21078
BB E R hm? 1.52
=¥ 53 Kg 170
(=) | BRI
1 —REE
M3 4% & hm? 40.38
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=1 o2 kg 10095
E5E kg 40380
2 R
M3 4% & hm? 40.35
B¥ kg 10088
E5HE kg 40350
3 T BRTHE
M3 % & b hm? 25.76
E¥f kg 6440
E5E kg 25760
(M) | RELBEMTE
HERIEE 1 ( 30cmx30cm ) N 245
£33 R 245
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AIFRKEERFGNEREEIESE  metdik, £, BER, %K%, BEF , XK
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(—) BRE AZER ( KO+000~ K20+000 )

-1 HE

1 1#HEE7 ( K2+800 )

TREF

145

2 2#HEE LS ( K9+800 )

TREP

124

3 3uEEA ( K13+450 )

T 4R

175

-2 Nt 17 I &

1 1#E 4% ( K1+600 )

T 4R

205

2 2#EX 37 ( K1+800 )

T REP

238

3 3¢5 ( K18+100)
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L3}

8

T REP

175

(Z) | &REPMHE ( K20+000~K40+000 )

-1 &

1 AHEE ( K20+100 )

TR

152

2 S#EE7 ( K35+450 )

T REP

134

-2 N+ 37 i e A

1 44BN 4% ( K26+800 )

T 4R

122

2 5#ER 117 ( K31+200 )

T 4R

118

3 6#EN 17 ( K34+650 )

T REP

75

4 THE L5 ( K37+100 )

T REP

132

5 s#EN 1% ( K39+450 )

T 4R

120

R HHE & 7 LB K40+000~ K65+000 )

—
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~—"

)11 62 R BIR i IRFAE 4 B 86



4 TR KB i 5 i B

) SKERSRHERY 7K 4R 55 I B $5 HE

L3}

8

-1 HE

1 eH#HEE ( K41+030 )

TR

185

2 THHEE Y ( K61+600 )

TR

202

-2 N+ 37 i e E

1 o#EN 15 ( K41+100 )

T REP

195

2 10#EX 4% ( K45+300 )

T 4R

174

3 11#Et 47 ( K49+200 )

T 4R

142

4 12#E+ 4% ( K55+540 )

T REP

127

5 13#E+4% ( K62+800 )

T REP

118

6 1448+ 3% ( K64+800 )

T 4R

128

(M) | &FLEEEIHE( K65+000~ K86+000 )
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L3}

8

-1 HE

1 s#iEES ( K66+760 )

TR

220

2 O#HEE ( K68+840 )

TR

235

3 10#3EE S ( K71+200 )

T REP

145

4 11##E S ( K73+560 )

TREP

177

5 1243537 ( K74+300 )

T 4R

205

6 13#3E3E % ( K76+500 )

T 4R

186

7 144368 ( K77+320)

TREF

101

8 15#3EE % ( K78+560 )

T REP

212

9 16434E3E % ( K79+600 )

TR

224
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